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2-26. See below:
a. Any line with a slope of 3.

- Ao __3
b. Any line with slope &% =3

c. Any line with a slope of 1.

d. Any vertical line. Note that % = 3 is undefined.

2-27. (a), (b), and (c) are functions; (d) is not a function because there are many values for y at the
x-value that was chosen by the student.

2-28. If Ay = 0, then the line is horizontal; if Ax = 0, then the line is vertical.

2-29. See the "Suggested Lesson Activity" for possible answers.
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2-30. See below:

a.Linea: y=2x—2, Lineb:y=2v+3

b. It would lie between lines a and b, because its y-intercept is at (0, 1).

c. It would slant downward but would have the same y-intercept as the line from part (b).
2-31. Approximately 79%
2-32. See below:

a.2.4x 108

b. 1.4 x 107
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2-33. See below:

a.—15¢

b. 64pSq3

c.3m®

2-34. Graphs (a) and (b) have a domain of all real numbers, while graphs (a) and (c) have a range of
all real numbers. Graphs (a) and (b) are functions.




